2xXx3x1.95m

Large Chicken Coop

Owner's Manual




2X3X1.95m

LIST OF MATERIALS

v
>
A
-

NO DIMENSION STYLE PIC QUANTITY
@ 1420mm
@ 1925mm / 5
® 970mm 4
@ 1540mm 4
® 1680mm 2
e
630mm 1
©) 14.6%x3.3x150mm q 6
A 312+1595mm Door left P
C 497mm Door button p.
D 226x85x106mm 6
E 140%140%132.5mm 4
G 180x100%56.5mm 2
I P8mm 8
J P10mm 4
K(Lock) 1
L 1
M 2
(—_
N o) 2




2X3X1.95M | 51 oF MATERIALS

:gRT DIMENSION STYLE PIC QUANTITY
O 2
P 16
Q 1
Hinges: 2 pieces
Lock: 1 set
Bracket: 6 pairs
U Clips: 2 pieces
Parts Roof: 1 piece
S — Rubber rope: for roof 1
J Cable ties: 1 package
M8 square heard screws: 8
M8 screw nuts: 8
M10 square heard screws: 4
M10 screw nuts: 4




2X3X1.95m

\@% % % Si -

Insert the hook into the ground @ ‘

Step.2




2X3X1.95m




2X3X1.95m

Pictures of real products

VI IX




2X3X1.95m

step.6 Roof = A —
£
2850mm - 4x500m /
2000 3
Reticulation %7‘ o >
Pann A
o
e E/ 1
: ‘ ﬁ .
£2 ::::ﬁ § §
[EESSSSSSSSSSSSE: < ><g E
-:.\ ” 2010mr:1 > ><> ¥ ¥
L 500m 2010mm 500m
<~ (—)

Step.7

»
O
v,

N

—
A
.
x
¥
W
»
X X ™ X
e WO X X K X K K IR KK XXX
¢

Iﬂlilllllllll

e
l

I
*d

=
*,
’

)
!
o
i
=

..o}

QUESTIONS?

If you have any questions about this coop, please contact us via

support@aefba.com , or you can contact us via Amazon

message, For both ways, our professional team will respond within

24 hours. Thank you for your business!
6



